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203x+ T+ 4ax—2)=130x+ b Corbettmaiths
bax+ Iha + hax-9 = 130x+ b
l0ax+ tha-3 = 130x+b
JOa =130 2 a= 3
Iba-8 = b 9 b=I134

Work outa and b

fx) = for positive values of x. 16(3(1-2): X12 " X+2
3x+1 3(x+2)4]  3x+ F
Work out f(x + 2) — f(x)
16{9(+ 2)~ )é{::;)
Give your answer as a simplified fraction. o X2 X
3x+F  3xt

= (x+2)(3x3 1) - x (324 %)
(341 )(3¢+ 3
= 32 Pt 2~ 3x2a 7y
(3x+1)(32+ 7)
= 2
(323 1)(3x+ 7)

B Angle BAC is obtuse.
Work out the size of angle BAC.
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A C =2 N0 = 0.6902
G obtuse = 0 = 1364°
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